

DIFFERENCE DERIVED FROM WEIGHTED HÖLDER'S INEQUALITY

SAICHI IZUMINO, JOSIP PEČARIĆ AND MASARU TOMINAGA

*Dedicated to the memory
of prof. Mladen Alić*

(communicated by S. Saitoh)

Abstract. We give the maximum of the difference

$$D_p(a, b; w) := \left(\sum_{k=1}^n w_k a_k^p \right)^{\frac{1}{p}} \left(\sum_{k=1}^n w_k b_k^q \right)^{\frac{1}{q}} - \sum_{k=1}^n w_k a_k b_k$$

derived from a weighted Hölder's inequality for $p, q > 1$, $p^{-1} + q^{-1} = 1$ and for positive n -tuples $a := (a_1, \dots, a_n)$, $b := (b_1, \dots, b_n)$ and a weight $w := (w_1, \dots, w_n)$ under certain conditions. The discussion in this note is simpler than our previous ones. It comes from the arrangement of a given weight and a linearization of $D_p(a, b; w)$ via Young's inequality. As a consequence, we give a , b and w which attain the maximum.

1. Introduction

Throughout this note, let $a := (a_1, \dots, a_n)$ and $b := (b_1, \dots, b_n)$ be n -tuples of positive numbers, and $w := (w_1, \dots, w_n)$ be a weight. Suppose that

$$0 < m_1 \leq a_k \leq M_1 \quad \text{and} \quad 0 < m_2 \leq b_k \leq M_2 \quad (k = 1, \dots, n).$$

Then we give the maximum of the difference

$$D_p(a, b; w) := \left(\sum_{k=1}^n w_k a_k^p \right)^{\frac{1}{p}} \left(\sum_{k=1}^n w_k b_k^q \right)^{\frac{1}{q}} - \sum_{k=1}^n w_k a_k b_k$$

for $p, q > 1$ with $p^{-1} + q^{-1} = 1$, derived from a weighted Hölder's inequality, i.e., $D_p(a, b; w) \geq 0$.

In [1], an upper bound of $D_p(a, b; w)$ for $w = (\frac{1}{n}, \dots, \frac{1}{n})$ was given by using Ozeki's technique ([1], [2], [4], [5]). Moreover in [3] the estimation was shown to be the best possible in a reasonable sense by the minimax theorem which is implicitly discussed the maximum of $D_p(a, b; w)$.

In this note, we give the maximum of $D_p(a, b; w)$ by a simpler argument than previous ones in [1] and [3]. This simplification is based on a linearization of $D_p(a, b; w)$ via Young's inequality, see Lemma 1 in the next section.

Mathematics subject classification (2000): 26D15.

Key words and phrases: Hölder's inequality, convex function, Ozeki's inequality.

2. Maximum of the difference $D_p(a, b; w)$

Without loss of generality we may assume $M_1 = M_2 = 1$. Conveniently we write $m_1 = \alpha$ and $m_2 = \beta$ with $\alpha, \beta \in (0, 1)$. Then $D_p(a, b; w)$ is considered as a function defined on the product of two n -dimensional cubes $[\alpha, 1]^n$ and $[\beta, 1]^n$. It follows from [3, Lemma 2.2] that $D_p(a, b; w)$ is convex in both a and b for a fixed weight w . Hence its maximum is attained at an extreme point of the definition domain $[\alpha, 1]^n \times [\beta, 1]^n$. So to compute the maximum, we only pay an attention to the extreme points (a, b) , that is, a, b such that $a_i = \alpha, 1$ and $b_i = \beta, 1$ for $i, j \in I_n := \{1, 2, \dots, n\}$. Denote by J_a and $J_b (\subset I_n)$ the sets

$$J_a := \{i \in I_n; a_i = 1\} \quad \text{and} \quad J_b := \{i \in I_n; b_i = 1\}.$$

Moreover we define a *reformed weight* $\tilde{w} := (\tilde{w}_1, \tilde{w}_2, \tilde{w}_3, \tilde{w}_4)$ for a given weight $w = (w_1, w_2, \dots, w_n)$ by

$$\begin{aligned} \tilde{w}_1 = \tilde{w}_1(a, b) &:= \sum_{i \in J_a \cap J_b} w_i, & \tilde{w}_2 = \tilde{w}_2(a, b) &:= \sum_{i \in J_a \cap J_b^c} w_i, \\ \tilde{w}_3 = \tilde{w}_3(a, b) &:= \sum_{i \in J_a^c \cap J_b} w_i \quad \text{and} \quad \tilde{w}_4 = \tilde{w}_4(a, b) &:= \sum_{i \in J_a^c \cap J_b^c} w_i. \end{aligned}$$

We put \tilde{W} the set of all reformed weights \tilde{w} for a weight w . Then it follows from $w_i \geq 0 (i \in I_n)$ and $\sum_{i \in I_n} w_i = 1$ that

$$\tilde{w}_1, \tilde{w}_2, \tilde{w}_3, \tilde{w}_4 \geq 0 \quad \text{and} \quad \tilde{w}_1 + \tilde{w}_2 + \tilde{w}_3 + \tilde{w}_4 = 1.$$

Using the reformed weight, we can rewrite $D_p(a, b; w)$ as follows:

$$\begin{aligned} D_p(a, b; w) &= \{\tilde{w}_1 + \tilde{w}_2 + \alpha^p(\tilde{w}_3 + \tilde{w}_4)\}^{\frac{1}{p}} \{\tilde{w}_1 + \tilde{w}_3 + \beta^q(\tilde{w}_2 + \tilde{w}_4)\}^{\frac{1}{q}} \\ &\quad - (\tilde{w}_1 + \beta\tilde{w}_2 + \alpha\tilde{w}_3 + \alpha\beta\tilde{w}_4). \end{aligned} \tag{1}$$

Now we here introduce $\tilde{D}(\tilde{w}, \tau)$ for $\tau > 0$, as a linearization of $D_p(a, b; w)$ in a sense

$$\begin{aligned} \tilde{D}(\tilde{w}, \tau) &:= \frac{1}{p} \{\tilde{w}_1 + \tilde{w}_2 + \alpha^p(\tilde{w}_3 + \tilde{w}_4)\} \tau^p + \frac{1}{q} \{\tilde{w}_1 + \tilde{w}_3 + \beta^q(\tilde{w}_2 + \tilde{w}_4)\} \tau^{-q} \\ &\quad - (\tilde{w}_1 + \beta\tilde{w}_2 + \alpha\tilde{w}_3 + \alpha\beta\tilde{w}_4). \end{aligned} \tag{2}$$

Then, recalling Young’s inequality that $h^{\frac{1}{p}}k^{\frac{1}{q}} \leq \frac{1}{p}h + \frac{1}{q}k$ for $h, k \geq 0$, we have $D_p(a, b; w) \leq \tilde{D}(\tilde{w}, \tau)$ by (1) and (2). Further the following lemma ensures that D_p is given by using $\tilde{D}(\tilde{w}, \tau)$ as a substitute for $D_p(a, b; w)$:

LEMMA 1. *The maximum D_p of $D_p(a, b; w)$ for a, b, w is represented as follows:*

$$D_p \left(:= \max_{a, b, w} D_p(a, b; w) \right) = \max_{\tilde{w} \in \tilde{W}} \min_{\tau > 0} \tilde{D}(\tilde{w}, \tau) = \min_{\tau > 0} \max_{\tilde{w} \in \tilde{W}} \tilde{D}(\tilde{w}, \tau).$$

Proof. The equality holds in $h^{\frac{1}{p}}k^{\frac{1}{q}} \leq \frac{1}{p}h + \frac{1}{q}k$ for all $h, k \geq 0$ if $h = k$. So we see that

$$D_p(a, b; w) = \min_{\tau > 0} \tilde{D}(\tilde{w}, \tau). \quad (3)$$

Indeed, it is attained at $\tau = \tau_w$ such that

$$\{\tilde{w}_1 + \tilde{w}_2 + \alpha^p(\tilde{w}_3 + \tilde{w}_4)\} \tau_w^p = \{\tilde{w}_1 + \tilde{w}_3 + \beta^q(\tilde{w}_2 + \tilde{w}_4)\} \tau_w^{-q}. \quad (4)$$

So we have $\max_{a,b,w} D_p(a, b; w) = \max_{w \in \tilde{W}} \min_{\tau > 0} \tilde{D}(\tilde{w}, \tau)$.

Next we see that $\tilde{w} \rightarrow \tilde{D}(\tilde{w}, \tau)$ is linear (hence concave) on \tilde{W} and $\tau \rightarrow \tilde{D}(\tilde{w}, \tau)$ is convex on $(0, \infty)$. So the identity $\max_{w \in \tilde{W}} \min_{\tau > 0} \tilde{D}(\tilde{w}, \tau) = \min_{\tau > 0} \max_{w \in \tilde{W}} \tilde{D}(\tilde{w}, \tau)$ holds by the mini-max theorem [6, pp.75-76], [3, Theorem S]. \square

In the below, we give some properties for $\tilde{D}(\tilde{w}, \tau)$. Since \tilde{W} is a convex set with four extreme points $\tilde{e}_1 = (1, 0, 0, 0), \dots, \tilde{e}_4 = (0, 0, 0, 1)$, we see that

$$\max_{w \in \tilde{W}} \tilde{D}(\tilde{w}, \tau) = \max_{i \in \{1,2,3,4\}} \tilde{D}(\tilde{e}_i, \tau).$$

In addition, each $\tilde{D}(\tilde{e}_i, \tau)$ is calculated by (2) :

$$\begin{aligned} \tilde{D}(\tilde{e}_1, \tau) &= \frac{1}{p}\tau^p + \frac{1}{q}\tau^{-q} - 1, & \tilde{D}(\tilde{e}_2, \tau) &= \frac{1}{p}\tau^p + \frac{1}{q}\beta^q\tau^{-q} - \beta, \\ \tilde{D}(\tilde{e}_3, \tau) &= \frac{1}{p}\alpha^p\tau^p + \frac{1}{q}\tau^{-q} - \alpha & \text{and} & \quad \tilde{D}(\tilde{e}_4, \tau) = \frac{1}{p}\alpha^p\tau^p + \frac{1}{q}\beta^q\tau^{-q} - \alpha\beta. \end{aligned} \quad (5)$$

Now let us state some elementary facts about these functions for $\tau > 0$.

LEMMA 2.

- (i) $\tilde{D}(\tilde{w}, \tau) = \tilde{D}(\tilde{e}_1, \tau)\tilde{w}_1 + \tilde{D}(\tilde{e}_2, \tau)\tilde{w}_2 + \tilde{D}(\tilde{e}_3, \tau)\tilde{w}_3 + \tilde{D}(\tilde{e}_4, \tau)\tilde{w}_4$.
- (ii) Put $\tau_1 = 1$, $\tau_2 = \beta^{\frac{1}{q}}$, $\tau_3 = \alpha^{-\frac{1}{q}}$ and $\tau_4 = \alpha^{-\frac{1}{q}}\beta^{\frac{1}{p}}$. Then all functions $\tilde{D}(\tilde{e}_k, \tau)$ ($k = 1, 2, 3, 4$) are strictly decreasing on $0 < \tau \leq \tau_k$, strictly increasing on $\tau_k \leq \tau$ and strictly convex on $\tau > 0$. Moreover we have $\tilde{D}(\tilde{e}_k, \tau_k) = 0$ and $\lim_{\tau \rightarrow 0} \tilde{D}(\tilde{e}_k, \tau) = \lim_{\tau \rightarrow \infty} \tilde{D}(\tilde{e}_k, \tau) = \infty$.

There exist $\theta_{p,\alpha} \in (\alpha, 1)$ and $\theta_{q,\beta} \in (\beta, 1)$ such that

$$\frac{1 - \alpha^p}{p(1 - \alpha)} = \theta_{p,\alpha}^{p-1} \left(= \theta_{p,\alpha}^{\frac{p}{q}} \right) \quad \text{and} \quad \frac{1 - \beta^q}{q(1 - \beta)} = \theta_{q,\beta}^{q-1} \left(= \theta_{q,\beta}^{\frac{q}{p}} \right) \quad (6)$$

by applying the mean-value theorem to functions p^p and q^q respectively. Related to the notations $\theta_{p,\alpha}$ and $\theta_{q,\beta}$, we have some properties for functions $\tilde{D}(\tilde{e}_i, \tau)$ ($1 \leq i, j \leq 4$):

LEMMA 3. Let $\tilde{D}_{i,j}(\tau) := \tilde{D}(\tilde{e}_i, \tau) - \tilde{D}(\tilde{e}_j, \tau)$ ($1 \leq i, j \leq 4$). Then the following facts hold:

- (i) $\tilde{D}_{1,2}(\tau)$ is strictly decreasing and $\tilde{D}_{1,2}(\tau) = 0$ has a (unique) solution $\tau = \theta_{q,\beta}^{\frac{1}{p}} \in (\beta^{\frac{1}{p}}, 1)$.

- (ii) $\tilde{D}_{1,3}(\tau)$ is strictly increasing and $\tilde{D}_{1,3}(\tau) = 0$ has a solution $\tau = \theta_{p,\alpha}^{-\frac{1}{q}} \in (1, \alpha^{-\frac{1}{q}})$.
- (iii) $\tilde{D}_{2,3}(\tau)$ is strictly increasing and $\tilde{D}_{2,3}(\tau) = 0$ has a solution $\tau = \tau_*(\in (\theta_{q,\beta}^{\frac{1}{p}}, \theta_{p,\alpha}^{-\frac{1}{q}}) \subset (\beta^{\frac{1}{p}}, \alpha^{-\frac{1}{q}})$.
- (iv) $\tilde{D}_{2,4}(\tau)$ is strictly increasing and $\tilde{D}_{2,4}(\tau) = 0$ has a solution $\tau = \beta^{\frac{1}{p}} \theta_{p,\alpha}^{-\frac{1}{q}} \in (\beta^{\frac{1}{p}}, \theta_{p,\alpha}^{-\frac{1}{q}})$.
- (v) $\tilde{D}_{3,4}(\tau)$ is strictly decreasing and $\tilde{D}_{3,4}(\tau) = 0$ has a solution $\tau = \alpha^{-\frac{1}{q}} \theta_{q,\beta}^{\frac{1}{p}} \in (\theta_{q,\beta}^{\frac{1}{p}}, \alpha^{-\frac{1}{q}})$.

Proof. We only prove (i) since (ii) – (v) are similarly shown. It follows from $\tilde{D}_{1,2}(\tau) = \frac{1}{q}(1 - \beta^q)\tau^{-q} - (1 - \beta)$ that $\tilde{D}'_{1,2}(\tau) = -(1 - \beta^q)\tau^{-q-1} < 0$. Moreover $\tilde{D}_{1,2}(\tau) = 0$ has a unique solution $\tau = \left\{ \frac{1-\beta^q}{q(1-\beta)} \right\}^{\frac{1}{q}} = \theta_{q,\beta}^{\frac{1}{p}}$ and the solution is included in $(\beta^{\frac{1}{p}}, 1)$ by (6). \square

Now we express the maximum D_p of $D_p(a, b; w)$ by using $\tilde{D}(\tilde{w}, \tau)$:

LEMMA 4. *The maximum value D_p is given as follows:*

$$D_p = \tilde{D}(\tilde{e}_2, \tau_*) = \tilde{D}(\tilde{e}_3, \tau_*) = (1 - t)\tilde{D}(\tilde{e}_2, \tau_*) + t\tilde{D}(\tilde{e}_3, \tau_*) = \tilde{D}(\tilde{w}_t, \tau_*) \tag{7}$$

for all $t \in [0, 1]$ where $\tilde{w}_t := (0, 1 - t, t, 0)$, $\tilde{e}_2 = (0, 1, 0, 0)$, $\tilde{e}_3 = (0, 0, 1, 0)$ and τ_* is defined by Lemma 3 (iii).

Proof. First of all we show that for each $\tau > 0$

$$\max_{\tilde{w} \in \tilde{W}} \tilde{D}(\tilde{w}, \tau) \left(= \max_{i \in \{1,2,3,4\}} \tilde{D}(\tilde{e}_i, \tau) \right) = \max\{\tilde{D}(\tilde{e}_2, \tau), \tilde{D}(\tilde{e}_3, \tau)\}, \tag{8}$$

or

$$\tilde{D}(\tilde{e}_1, \tau) < \max\{\tilde{D}(\tilde{e}_2, \tau), \tilde{D}(\tilde{e}_3, \tau)\} \quad \text{and} \quad \tilde{D}(\tilde{e}_4, \tau) < \max\{\tilde{D}(\tilde{e}_2, \tau), \tilde{D}(\tilde{e}_3, \tau)\}. \tag{9}$$

Note that $\tilde{D}(\tilde{e}_1, \tau) < \tilde{D}(\tilde{e}_2, \tau)$ for $\theta_{q,\beta}^{\frac{1}{p}} < \tau$ and $\tilde{D}(\tilde{e}_1, \tau) < \tilde{D}(\tilde{e}_3, \tau)$ for $0 < \tau < \theta_{p,\alpha}^{-\frac{1}{q}}$ by Lemma 3 (i) and (ii), respectively. Hence since $\theta_{q,\beta}^{\frac{1}{p}} < \theta_{p,\alpha}^{-\frac{1}{q}}$, the first inequality of (9) holds for all $\tau > 0$. Similarly it follows from Lemma 3 (iv) and (v) that the second inequality holds for all $\tau > 0$ by $\beta^{\frac{1}{p}} \theta_{p,\alpha}^{-\frac{1}{q}} < \alpha^{-\frac{1}{q}} \theta_{q,\beta}^{\frac{1}{p}}$.

Moreover we see from (8), Lemmas 2 (ii) and 3 (iii) that $\max_{\tilde{w} \in \tilde{W}} \tilde{D}(\tilde{w}, \tau)$ is a convex function of $\tau > 0$ and its minimum attains at $\tau = \tau_*$, i.e.,

$$\min_{\tau > 0} \max_{\tilde{w} \in \tilde{W}} \tilde{D}(\tilde{w}, \tau) = \tilde{D}(\tilde{e}_2, \tau_*) = \tilde{D}(\tilde{e}_3, \tau_*) \left(= (1-t)\tilde{D}(\tilde{e}_2, \tau_*) + t\tilde{D}(\tilde{e}_3, \tau_*) = \tilde{D}(\tilde{w}_t, \tau_*) \right)$$

by Lemma 2 (i). The first inequality of (7) holds by Lemma 1. \square

From the above lemmas we have the following theorem:

THEOREM 5. Let $\alpha, \beta \in (0, 1)$ and $p, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$ be given, and $\tau = \tau_*$ be a unique solution of the equation $\frac{1}{p}\tau^p + \frac{1}{q}\beta^q\tau^{-q} - \beta = \frac{1}{p}\alpha^p\tau^p + \frac{1}{q}\tau^{-q} - \alpha$ which appears in Lemma 3 (iii). Then

$$\begin{aligned} \max_{a,b,w} D_p(a, b; w) &= (\tilde{w}_{2*} + \alpha^p \tilde{w}_{3*})^{\frac{1}{p}} (\tilde{w}_{3*} + \beta^q \tilde{w}_{2*})^{\frac{1}{q}} - (\beta \tilde{w}_{2*} + \alpha \tilde{w}_{3*}) \\ &= \frac{1}{p} \tau_*^p + \frac{1}{q} \beta^q \tau_*^{-q} - \beta = \frac{1}{p} \alpha^p \tau_*^p + \frac{1}{q} \tau_*^{-q} - \alpha \end{aligned} \quad (10)$$

where $a = (a_1, \dots, a_n)$ and $b = (b_1, \dots, b_n)$ are n -tuples of positive numbers $[\alpha, 1]^n$ and $[\beta, 1]^n$ respectively, $w = (w_1, \dots, w_n)$ is a weight, and the constants \tilde{w}_{2*} and \tilde{w}_{3*} are defined by

$$\tilde{w}_{2*} := \frac{1 - \alpha^p \tau_*^{pq}}{1 - \alpha^p \tau_*^{pq} + \tau_*^{pq} - \beta^q}, \quad \tilde{w}_{3*} := \frac{\tau_*^{pq} - \beta^q}{1 - \alpha^p \tau_*^{pq} + \tau_*^{pq} - \beta^q} \in (0, 1). \quad (11)$$

The maximum is attained at (a, b) in the left side of (10) if and only if $a_i = 1, \alpha, b_i = 1, \beta$ and a reformed weight \tilde{w} generated by a given weight w is $(0, \tilde{w}_{2*}, \tilde{w}_{3*}, 0)$.

Proof. Since $D_p(a, b; w)$ is convex in both a and b , its maximum is attained at an extreme point (a, b) of the product $[\alpha, 1]^n \times [\beta, 1]^n$, that is, $a_i = \alpha, 1$ and $b_i = \beta, 1$ for $i, j \in \{1, 2, \dots, n\}$. By Lemma 4 we see that the maximum D_p of $D_p(a, b; w)$ is given by $\tilde{D}(\tilde{w}_*, \tau_*)$ where $\tilde{w}_* = (0, \tilde{w}_{2*}, \tilde{w}_{3*}, 0)$ with $\tilde{w}_{2*} + \tilde{w}_{3*} = 1, \tilde{w}_{2*}, \tilde{w}_{3*} \geq 0$. Since this reformed weight \tilde{w}_* satisfies (4) for $\tau_w = \tau_*$, we obtain (11). Here Lemma 3 (iii) implies that the constants \tilde{w}_{2*} and \tilde{w}_{3*} are included in $(0, 1)$. Taking any weight $w = w_*$ which generates \tilde{w}_* , we have $D_p(a, b; w_*) = \tilde{D}(\tilde{w}_*, \tau_*)$ by (3). Moreover by (1) we have $D_p(a, b; w_*) = (\tilde{w}_{2*} + \alpha^p \tilde{w}_{3*})^{\frac{1}{p}} (\tilde{w}_{3*} + \beta^q \tilde{w}_{2*})^{\frac{1}{q}} - (\beta \tilde{w}_{2*} + \alpha \tilde{w}_{3*})$. So we obtain the first equality of (10). Further since $D_p = D(\tilde{e}_2, \tau_*) (= D(\tilde{e}_3, \tau_*))$ by Lemma 4, the second equality of (10) holds. \square

EXAMPLE 6. Let $\alpha = \beta = \frac{1}{2}, p = q = 2$ and $n = 4$ in Theorem 5. Then since the equality $D(\tilde{e}_2, \tau_*) = D(\tilde{e}_3, \tau_*)$ implies $\tau_* = 1$, we have by (10)

$$\frac{1}{p} \tau_*^p + \frac{1}{q} \beta^q \tau_*^{-q} - \beta = \frac{1}{p} \alpha^p \tau_*^p + \frac{1}{q} \tau_*^{-q} - \alpha = \frac{1}{8}.$$

Moreover we have $\tilde{w}_{2*} = \tilde{w}_{3*} = \frac{1}{2} \in (0, 1)$, so that

$$(\tilde{w}_{2*} + \alpha^p \tilde{w}_{3*})^{\frac{1}{p}} (\tilde{w}_{3*} + \beta^q \tilde{w}_{2*})^{\frac{1}{q}} - (\beta \tilde{w}_{2*} + \alpha \tilde{w}_{3*}) = \frac{1}{8}.$$

On the other hand, the maximum of $D_p(a, b; w)$ is given by $(a_i, b_i) = (1, \beta)$ or $(\alpha, 1)$ for $i \in I_4 := \{1, 2, 3, 4\}$. We consider three cases $|J_a| = 1, 2$ and 3 where $|J_a|$ expresses the cardinal number of J_a :

Let $|J_a| = 1$ (or $|J_b| = |I_4 \setminus J_a| = 3$). Then we may suppose that $J_a = \{i_1\}$ and $J_b = \{i_2, i_3, i_4\}$ for $i_1, i_2, i_3, i_4 \in I_4$. Hence we have $w_{i_1} = \frac{1}{2}$ and $w_{i_2}, w_{i_3}, w_{i_4} \in [0, \frac{1}{2}]$ with $w_{i_2} + w_{i_3} + w_{i_4} = \frac{1}{2}$, so that

$$\begin{aligned} D_p(a, b; w) &= \left\{ w_{i_1} \cdot 1^2 + (w_{i_2} + w_{i_3} + w_{i_4}) \cdot \left(\frac{1}{2}\right)^2 \right\}^{\frac{1}{2}} \left\{ w_{i_1} \cdot \left(\frac{1}{2}\right)^2 + (w_{i_2} + w_{i_3} + w_{i_4}) \cdot 1^2 \right\}^{\frac{1}{2}} \\ &\quad - \left(w_{i_1} \cdot 1 \cdot \frac{1}{2} + (w_{i_2} + w_{i_3} + w_{i_4}) \cdot \frac{1}{2} \cdot 1 \right) \\ &= \left\{ \frac{1}{2} \cdot 1^2 + \frac{1}{2} \cdot \left(\frac{1}{2}\right)^2 \right\}^{\frac{1}{2}} \left\{ \frac{1}{2} \cdot \left(\frac{1}{2}\right)^2 + \frac{1}{2} \cdot 1^2 \right\}^{\frac{1}{2}} - \left(\frac{1}{2} \cdot 1 \cdot \frac{1}{2} + \frac{1}{2} \cdot \frac{1}{2} \cdot 1 \right) = \frac{1}{8}. \end{aligned}$$

Let $|J_a| = 2$ (or $|J_b| = |I_4 \setminus J_a| = 2$). Then we may suppose that $J_a = \{i_1, i_2\}$ and $J_b = \{i_3, i_4\}$. Hence we have $w_{i_1}, w_{i_2}, w_{i_3}, w_{i_4} \in [0, \frac{1}{2}]$ with $w_{i_1} + w_{i_2} = \frac{1}{2}$ and $w_{i_3} + w_{i_4} = \frac{1}{2}$, so that

$$\begin{aligned} D_p(a, b; w) &= \left\{ (w_{i_1} + w_{i_2}) \cdot 1^2 + (w_{i_3} + w_{i_4}) \cdot \left(\frac{1}{2}\right)^2 \right\}^{\frac{1}{2}} \left\{ (w_{i_1} + w_{i_2}) \cdot \left(\frac{1}{2}\right)^2 + (w_{i_3} + w_{i_4}) \cdot 1^2 \right\}^{\frac{1}{2}} \\ &\quad - \left\{ (w_{i_1} + w_{i_2}) \cdot 1 \cdot \frac{1}{2} + (w_{i_3} + w_{i_4}) \cdot \frac{1}{2} \cdot 1 \right\} = \frac{1}{8}. \end{aligned}$$

Let $|J_a| = 3$. Then similarly we have $D_p(a, b; w) = \frac{1}{8}$. Therefore we have (10).

3. Variational expression of the maximum D_p

We first recall an upper bound D_0 in our previous note [1, p.46]. For convenience, we put, for fixed $p, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$ and $\alpha, \beta \in (0, 1)$,

$$K := \left\{ \frac{1 - \alpha^p}{p(1 - \alpha)} \right\}^{\frac{1}{p}} \left\{ \frac{1 - \beta^q}{q(1 - \beta)} \right\}^{\frac{1}{q}}.$$

Moreover we need that the equation

$$(1 - \alpha)(1 - K\tau^{\frac{1}{q}}) = (1 - \beta)(1 - K\tau^{-\frac{1}{p}}) \quad (\equiv c) \quad (12)$$

has a unique solution $\tau = \tau_0$, by which the upper bound D_0 of $D_p(a, b; w_0)$ for the weight $w_0 = (\frac{1}{n}, \dots, \frac{1}{n})$ was given by

$$D_0 := \frac{1 - \alpha}{1 - \alpha^p} + \frac{1 - \beta}{1 - \beta^q} - 1 - c \left(\frac{1}{1 - \alpha^p} + \frac{1}{1 - \beta^q} - 1 \right). \quad (13)$$

In this section, we show the correspondence of the maximum D_p and D_0 . The following lemma is technically essential:

LEMMA 7. Let τ_0 be as in above. Then the unique solution τ_* in Lemma 3 (iii) is expressed as

$$\tau_* = \left\{ \frac{p(1-\alpha)}{1-\alpha^p} \cdot \frac{1-\beta^q}{q(1-\beta)} \tau_0 \right\}^{\frac{1}{pq}}.$$

Proof. For convenience, we put

$$\tau_{\sharp} = \left\{ \frac{p(1-\alpha)}{1-\alpha^p} \cdot \frac{1-\beta^q}{q(1-\beta)} \tau_0 \right\}^{\frac{1}{pq}}.$$

Since $1 - \frac{c}{1-\alpha} = K\tau_0^{\frac{1}{q}}$ and $1 - \frac{c}{1-\beta} = K\tau_0^{-\frac{1}{p}}$ by (12), it follows from (13) that

$$D_0 = \frac{1-\alpha}{1-\alpha^p} + \frac{1-\beta}{1-\beta^q} - 1 - \frac{c}{1-\alpha^p} - \frac{c}{1-\beta^q} + c = \frac{1-\alpha}{1-\alpha^p} K\tau_0^{\frac{1}{q}} + \frac{1-\beta}{1-\beta^q} K\tau_0^{-\frac{1}{p}} - 1 + c.$$

Here, using $c = (1-\alpha)(1-K\tau_0^{\frac{1}{q}})$, we have

$$\begin{aligned} D_0 &= \frac{1-\alpha}{1-\alpha^p} K\tau_0^{\frac{1}{q}} + \frac{1-\beta}{1-\beta^q} K\tau_0^{-\frac{1}{p}} - (1-\alpha)K\tau_0^{\frac{1}{q}} - \alpha \\ &= \alpha^p \frac{1-\alpha}{1-\alpha^p} K\tau_0^{\frac{1}{q}} + \frac{1-\beta}{1-\beta^q} K\tau_0^{-\frac{1}{p}} - \alpha \\ &= \frac{\alpha^p}{p} \left\{ \frac{1-\alpha^p}{p(1-\alpha^p)} \right\}^{-\frac{1}{q}} \left\{ \frac{1-\beta^q}{q(1-\beta)} \right\}^{\frac{1}{q}} \tau_0^{\frac{1}{q}} + \frac{1}{q} \left\{ \frac{1-\alpha^p}{p(1-\alpha)} \right\}^{\frac{1}{p}} \left\{ \frac{1-\beta^q}{q(1-\beta)} \right\}^{-\frac{1}{p}} \tau_0^{-\frac{1}{p}} - \alpha \\ &= \frac{1}{p} \alpha^p \tau_{\sharp}^p + \frac{1}{q} \tau_{\sharp}^{-q} - \alpha = \tilde{D}(\tilde{e}_3, \tau_{\sharp}) \quad (\text{by (5)}). \end{aligned}$$

Similarly, using $c = (1-\beta)(1-K\tau_0^{-\frac{1}{p}})$, we obtain

$$D_0 = \frac{1}{p} \tau_{\sharp}^p + \frac{1}{q} \beta^q \tau_{\sharp}^{-q} - \beta = \tilde{D}(\tilde{e}_2, \tau_{\sharp}).$$

Namely we have $\tilde{D}_{2,3}(\tau_{\sharp}) = \tilde{D}(\tilde{e}_2, \tau_{\sharp}) - \tilde{D}(\tilde{e}_3, \tau_{\sharp}) = 0$. Since the solution $\tau = \tau_*$ of $\tilde{D}_{2,3}(\tau_{\sharp}) = 0$ is unique by Lemma 3 (iii), we have $\tau_* = \tau_{\sharp}$. \square

THEOREM 8. The maximum D_p (of $D_p(a, b, ; w)$) coincides with the upper bound D_0 .

Proof. Let τ_{\sharp} be as in the proof of Lemma 7. Then $D_0 = \tilde{D}(\tilde{e}_i, \tau_{\sharp})$ for $i = 2, 3$ and $\tau_{\sharp} = \tau_*$ are proved in Lemma 7. On the other hand we have $D_p = \tilde{D}(\tilde{e}_i, \tau_*)$ for $i = 2, 3$ by Lemma 4 and so $D_p = D_0$. \square

Incidentally, the proof of Theorem 8 says that Lemmas 4 and 7 play a role to combine Theorem 5 with the previous result.

Now to calculate D_p given by (7) directly, we have the following:

COROLLARY 9. The maximum value D_p is a unique solution of the equation

$$\frac{p^{\frac{1}{p}} q^{\frac{1}{q}}}{1-\alpha^p \beta^q} \{ (1-\beta^q)t + \beta - \alpha\beta^q \}^{\frac{1}{p}} \{ (1-\alpha^p)t + \alpha - \alpha^p \beta \}^{\frac{1}{q}} = 1 \quad (t > 0). \quad (14)$$

Proof. Let $\xi = \tau_*^p$ and $\eta = \tau_*^{-q}$. It follows from $\tilde{D}(\tilde{e}_2, \tau_*) = \tilde{D}(\tilde{e}_3, \tau_*) = D_p$ that

$$\frac{1}{p}\xi + \frac{1}{q}\beta^q\eta - \beta = \frac{1}{p}\alpha^p\xi + \frac{1}{q}\eta - \alpha = D_p.$$

So we have

$$\xi = \frac{p}{1 - \alpha^p\beta^q} \{(1 - \beta^q)D_p + \beta - \alpha\beta^q\} \quad \text{and} \quad \eta = \frac{q}{1 - \alpha^p\beta^q} \{(1 - \alpha^p)D_p + \alpha - \alpha^p\beta\}.$$

Since $\xi^{\frac{1}{p}}\eta^{\frac{1}{q}} = 1$, we see that D_p is a solution of (14). Next let $f(t)$ be the function defined by the left side of (14). Then $f(t)$ is strictly increasing and $\text{ran } f(t) = (f(0), \infty)$. Moreover we have

$$\begin{aligned} (0 <) & \{p(\beta - \alpha\beta^q)\}^{\frac{1}{p}} \{q(\alpha - \alpha^p\beta)\}^{\frac{1}{q}} \\ & \leq \frac{1}{p} \cdot p(\beta - \alpha\beta^q) + \frac{1}{q} \cdot q(\alpha - \alpha^p\beta) \\ & = \beta(1 - \alpha^p) + \alpha(1 - \beta^q) \\ & \leq \left(\frac{1}{p} + \frac{1}{q}\beta^q\right)(1 - \alpha^p) + \left(\frac{1}{q} + \frac{1}{p}\alpha^p\right)(1 - \beta^q) \\ & = 1 - \alpha^p\beta^q \end{aligned}$$

by Young's inequality, so that $f(0) = \frac{1}{1 - \alpha^p\beta^q} \{p(\beta - \alpha\beta^q)\}^{\frac{1}{p}} \{q(\alpha - \alpha^p\beta)\}^{\frac{1}{q}} \in (0, 1)$. Hence (14) has a unique solution $t = D_p$. \square

One of the authors introduced the following constant in [1, Theorem 3.2]:

$$C(u, v; \gamma) = \frac{1}{u} \left\{ \frac{1 - \gamma^v}{v(1 - \gamma)} \right\}^{u-1} - \frac{\gamma - \gamma^v}{1 - \gamma^v}$$

for $u > 1$, $v > 1$ with $\frac{1}{u} + \frac{1}{v} = 1$ and $0 < \gamma < 1$. Incidentally we consider the maximum of $D_p(a, b; w)$ in the following restriction for a and b :

$$1 \geq a_1 \geq \cdots \geq a_n \geq \alpha \quad \text{and} \quad 1 \geq b_1 \geq \cdots \geq b_n \geq \beta \quad (0 < \alpha, \beta < 1).$$

Then it is given by

$$\max_{a, b, w} D_p(a, b; w) = \max \{C(p, q; \beta), C(q, p; \alpha)\}.$$

REFERENCES

- [1] S. IZUMINO, *Ozeki's method on Hölder's inequality*, Math. Japon., **50**, (1999), 41–55.
- [2] S. IZUMINO, H. MORI AND Y. SEO, *On Ozeki's inequality*, J. Inequal. Appl., **2**, (1998), 235–253.
- [3] S. IZUMINO, M. TOMINAGA, *Estimations in Hölder's type inequalities*, Math. Inequal. & Appl., **4**, 2 (2001), 163–187.
- [4] D. MITRINOVIĆ, J. E. PEČARIĆ AND A. M. FINK, *Classical and New Inequalities in Analysis*, Kluwer Academic Publishers, Boston, London 1993.
- [5] N. OZEKI, *On the estimation of the inequalities by the maximum, or minimum values* (in Japanese), J. College Arts Sci, Chiba Univ., **5**, (1968), 199–203.

- [6] E. ZEIDLER, *Applied Functional Analysis ; Main Principles and Their Applications*, Applied Mathematical Sciences 109, Springer-Verlag, New York, 1995.

(Received December 15, 2004)

S. Izumino
Faculty of Education
Toyama University
Gofuku
Toyama 930-8555
Japan
e-mail: s-izumino@h5.dion.ne.jp

J. Pečarić
Faculty of Textile Technology
University of Zagreb
Pierottijeva 6
10000 Zagreb
Croatia
e-mail: pecaric@mahazu.hazu.hr

M. Tominaga
Toyama National College of Technology
Hongo-machi 13
Toyama-shi 939-8630
Japan
e-mail: mtommy@toyama-nct.ac.jp